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HH : 20225E7TH9H (+)~7H10H (H) S ZHAZBG AR—Y Ot $AFE KK (50m)
No.32 B 50m /N2 754 & L5 24.38
B & £ i & 2E KK B FH
1 AR R A K L H —fi% 10/ 4 24.90 9%k
2 iRl IEE KALS C =3 9/ 4 25.92 9%
3 Al A a%E/SS =3 11/ 5 26. 20 9%
4 V8 HTKEA WS C 3 11/ 3 26. 84 9%
5 I B H7YeESS  H3 10/ 5 26.97 8k
6 PN A af/SS =) 9/ 5 27.03 9k
TR Al WHEMS C =2 10/ 6 27.34 8k
8 NNk FREF A H A, =110/ 2 27. 82 Sk
9 PrA gLz KAS C =3 11/ 6 27. 84 Tk
10 )l B IWHEMHSC El 11/ 2 27.96 87k
11 &N 29 AL =2 11/ 7 28.00 84k
12 HHE 72 KBA ~N 288 S 52 9/ 2 28.23 8k
13 #&%  Esf MBSH#/1" =) =S 9/ 6 28. 47 Tk
14 =i53KEA ELH DY H 3 9/ 3 28. 89 8k
15 EH K T/ H AR S 9/ 7 28.99 Tk
16 FEHRFETIR 4SS F3 11/ 1 29.03 8k
17 ¥ | 7K k7S C 2 10/ 7 29.24 8k
18 {FE IR R E2 10/ 1 29.76 6%
19 /N HEb FAOKVKI77T 3 9/ 1 29.92 63%
20 FES DR St ik =3 11/ 8 29. 95 51k
21 B HEL A DU H b3 7/ 2 30. 26 T
22 JHH  FEY] HhySC  Hl 8/ 4 30.33 9H%
23 fEdE  HFEX WA S C 2 10/ 8 30. 47 6%
24 KRF  [E¥, IV A= H2 8/ 5 30. 56 Tk
25 e x KRIEN IS C =2 9/ 8 30. 97 Tk
26 IEAK #Z% HI7AHSS 2 8/ 1 30. 99 TR
27 WP KOk HEAS S 1 8/ 3 31.08 8#k
28 /NEF JE A Ly 7SC 3 8/ 6 31.16 6%
20 #H =2t SCHz 13 8/ T 31.22 5%
30 #WE BX A Z AR 1 8/ 2 31.44 8%
31 de#¥y  K— 7 S SR 1 7/ 7 32.35 Tk
32 ki Bk 7Y e TH &3 7/ 4 32.53 2%
33 R EE WS C M3 7/ 5 32.58 4%
34 IRES  shik WAHS C 1 6/ 4 32.93 5%k
35 RARfE 1 MBSH/n =) 1 8/ 8 33.05 5%
36 EHE & 2%/ SS 2 7/ 6 33.10 5%
37 JHL AEE A4 b4k HF1 7/ 3 33.83 4%
38 W BEK SPEBTZE D /N6 7/ 8 34. 38 5k
S i R TR i 11/ 4 K44
OPN FH M = % /S S =3 10/ 3 27.58 Tk
OPN JTR% HI%k 7He TH —fi% 6/ 5 32.38 2%
OPN g RE AR R 2 4/ 1 33. 45 2o
OPN JIIE 58 S R =8| 6/ 1 34.14 2%
OPN #AF: M J]SSHT M2 6/ 2 34. 21 45%
OPN [l fdik R L NG 6/ 7 34. 47 Tk
OPN ) K& w7V esSs Hi2 6/ 8 34.97 3%
OPN miA  fERk AP H 1 5/ 4 35. 65 3%
OPN HkfF  KIF SCHz /N6 5/ 3 35. 71 4%
OPN fEH WAMS C 12 4/ 5 35.87 3%
OPN $AK  FHIr LS C NG 5/ 6 35. 91 6%
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HIH @ 20224E7THIH () ~7TH10H (H) S ZHEAZBMG AR—Y Ok $5FE KB (50m)
No.32 B 50m /N2 754 & L5 24.38
B K 4 T B 2E KE B E
OPN HiH #EH J S SR /N5 4/ 7 36.12 8k
OPN &% #A b -bB ) /N 6/ 3 36.17 6%
OPN /K& At HHZRA NG 5/ 8 36.19 45
OPN Il B3k iR = 2/ 2 36. 72
OPN REH H1ZE AR KPR NG 5/ 7 37.22 51k
OPN H & I SPEE7ZF 0 NG 5/ 2 37. 31 5%
OPN HFH MHE a%/SS NG 5/ 1 37.87 4%
OPN HH  BEED IWHEHS C /NG 4/ 4 38.29 6%
OPN /NAAR A= HH 4 /N3 3/ 1 38. 32 Stk
OPN [LIA B J S SR NG 4/ 6 38. 41 4%
OPN BT M JSSH¥ 1 4/ 3 38. 82 25
OPN 75k [EE NRA KPR NG 3/ 8 39.37 3%
OPN Jnji H MBS#/n" =7 /N4 1/ 5 39. 65 %
OPN &4 V& VAV /N /N4 3/ 2 40. 80 65k
OPN LA KFH IWAMS C /N6 3/ 5 40. 87 2%
OPN e [&E& S S /N5 4/ 8 40. 91 45
OPN gy e RSB NS 2/ 4 41.10 45,
OPN B 1B J S SHABK NG 3/ 3 42.15 1%
OPN f)112844 = 2%/ SS /NG 3/ 6 42.29 3%
OPN fu L2 YA NI NG 3/ 7 42. 80
OPN AR&ES  #hiE KfdS C /NG 2/ 3 43.18 3%
OPN NH KR 2%/ SS /N4 2/ 6 43.90 A%
OPN ‘A  BHipk T S SR /N4 2/ 1 44. 14 27%
OPN KH #C AR 2N /N4 2/ 7 44. 35 25
OPN [LHH 2 YA N /N5 2/ 5 45. 28 1%
OPN JHH FEST HEy7FSC  /hl 1/ 4 45. 82 65%
OPN f1H Bl 2%/ SS /NG 1/ 3 46. 32
OPN BLJI|  KiF KfdsS C /NG 1/ 2 47. 44
OPN &nA  VERE VYAV /NI ! 2/ 8 48. 56 1%
OPN 8 ik B — MABK /N4 1/ 6 49. 03
OPN 12 2 RIEIE aE/SS Ml 5/ 5 £¥4.4
OPN JEfE H R = 6/ 6 <$&8.2
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